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Лекция
 

1.

1. Скорость
 

химической
 

реакции. Основной
 

закон
 

химической
кинетики. порядок

 
реакции

 
и

 
порядок

 
реакции

 
по

 
компоненту,

константы
 

скорости, эффективные
 

константы
 

скорости. 
Элементарные

 
и

 
сложные

 
реакции, молекулярность

 
реакции

(моно-, би-, три-). Реакции
 

переменного
 

порядка.

2. Прямая
 

и
 

обратная
 

кинетические
 

задачи. Параметры
кинетических

 
уравнений, методы

 
определения

 
порядка

 
реакций.

3. Кинетическое
 

описание
 

необратимых
 

реакций
 

первого
 

порядка
в

 
закрытых

 
системах. Время

 
полупревращения. Среднее

 
время

жизни
 

исходных
 

молекул.
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tg    =  (1 -n )*k ,  n < 1
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tg    =  (n -1),  n> 1
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А+В
 

 продукты
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Автокаталитическая
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Реакция
 

«нулевого»
 

порядка
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pN2O
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r = k"

Нулевой порядок

2 N2O  --> 2 N2 + O2

Реакция
 

«нулевого»
 

порядка

Поверхность
 

заполнена
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